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SEMMOHERXREHRFE
HEHXe—2 BEYI_ AT BTSN SHRICEHT HZRIEBEA/) | dAzEr [ 7ukasi/E
BIEMBOWME | EHES 11152003 [ &me ] A1 [ ideth [ PRSI (A
SERMO TiRICHET 51 H# SEMHEA
;ﬁ%’% TEEOBHDESLADKES TEEDHBEESENDKRES TEZEOBHOESLADKRES TREOEBESLIDKRES
S 100kN/m#%825| - - o~ - - ImEBAB| - ~ - - - 100kN/m#%#825%| - - o~ - - 3ImEEZS| - ~ - - -
Zh st 100l 000~ 713 9059 Fhdst | ooo~ ooo| 160 807 Zn st 100l 500~ 989 059 FNLAS | 500~ 989 160 807
, 100kN/m%E#BZ 5| 1L00| 000~ 265 141.69|3mERBZB| - ~ - - - 100kN/m%E#825| 100| 1083 ~ 2692 141.69|3mERBZRB| - ~ - - -
zhst 100| 265~ 1043 100.00 Fh Lot 000~ 1043 289 14.62 zTh st 100| 500~ 1083 10000 TS | 500~ 25920 289 14.62
5 100kN/m%#8Z25%| 100 000~ 285 14517|3mZEHBZ5| - ~ - - - 100kN/m%E#8Zx 5| 100| 1063~ 2708 14517|3mEREZS| - ~ - - -
ZThish 1.00| 285~ 1064 10000 TS | 000~ 1064 296 14.94 Fhs 100 500~ 1063 10000 FNUS | 500~ 2708 296 14.94
s 100kN/m%#8%%| 100 0oo~ 303 14823\ 3mERBZB| - ~ - - - 100kN/m%E#8Z25| 1roo| 1057 ~ 2853 14823|3mEBZB| - ~ - - -
Zzh st 1.00| 303~ 1082 10000 TS | 000~ 1082 299 1512 Zhn st 100l 500~ 1057 10000 TS | 500~ 2853 299 1512
5 100kN/m%#BZ 5| 1L0oo| 0oo~ 303 14815|3mEBAD| - ~ - - - 100kN/M%E#Z2 5| 00| 1062~ 2989 14815|3mEBRB| - ~ - - -
Zzh st 1.00| 303~ 1081 10000 FNASY | 000~ 1081 296 14.96 Zhn st 1.00| 500~ 1062 10000 FNLS | 500~ 2989 296 14.96
p 100kN/m%E#BZ 5| 1L00| 0oo~ 276 14359|3mEBZD| - ~ - - - 100kN/m%E#BZx5| 100| 1078~ 2800 14359|3mEBAD| - ~ - - -
Zh st 100 276~ 1055 100.00] FH L5 000~ 1055 291 14.69 ZFhLst Lo0| 500~ 1078 100,001 TS | 500~ 2800 291 14.69
; 100kN/m%E#BZ%| 100l 000~ 163 12491|3mEBRA| - ~ - - - 100kN/m%#Z25| 100| 11.09 ~ 1828 12491\13mERBZAD| - ~ - - -
zh ot 100 163~ 941 10000 TS | 000~ 941 221 11.19 FnLst 100 500~ 11.09 10000 TN | 500~ 1828 221 11.19
s 100kN/mM%#B25| - - o~ - - 3mEBAL| - ~ - - - 100kN/m#%8B25| - - o~ - - ImEBAL| - ~ - - -
zhst 100 000~ 531 66.28| Fh Lo 000~ 000 166 837 zTh st 100 500~ 584 6628 TS | 500~ 584 166 837
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ 3mZEHEZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




